


Pilihlah satu jawaban yang tepat pada pertanyaan dibawah inil
Integral Tak Tentu

I. Nilai dari[(12x? — 4x + 1)dx = ....
a. 6X-4x+x+C

b. 6x*-4x*+C

c. 43+2%+x+C

d 4x’-2x*+x+C

e. 4x*+2x*+x+C

2. Hasil dari [(3x% — 5x + 4)dx = ....

i x3—§x2+4x+f.‘

b. x*-5x2+4x+C

c. Ix}-5x2+4x+C

d 6x*-5x2+4x+C

e. 6x3—§x2+4x+C
3. Hasil dari [>x? +x—1dx=....
a x+1+C

1

b &

x3+%x2—x+C
c. %x3+x2—x+C
d. x3+§x2-x+C
e. X*+x2-x+C

4. Hasil dari [(2x — 3)dx = ....
8. +3x4C

b. x2-3x+C
c. 3x2+3x+C
d. 3x*-3x+C

e. x*-3+C

5. Hasil dari [ (5x° +3) dx=....
a. ix“‘ +3x+C

b. Elx4+3x+C

C. %x4+3x2+C

d Zx*+3x+C
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6. f(3x%+2x+4)dx=...
a. 6 —6x2+4x+C

b. x¥*+x*+4x+C
c. 3¥+2x2-x+C
d 3x’-2x2+x+C
e. IX¥-Ix*+7x+C
7. J(x+2)(x—3)dx=....
a. x’-x-6+C

b. %xz—x—6+c

1 1
c. ;xz—gx—ﬁx-lnc

eV B
d. X >X 6+C

1 1
e. §x3—5x2—6x+6

8. [3x*+6x+8dx=...
a. 2x3+6+C

b. =x3+3x2+8x+C
c. %x3+6x2+8x+£‘
d ;x*+3x2+8x+C
e. %x3+6x2+8x+6

9. Hasil dari f(2x — --)?dx adalah ....

2.3 1
a. =x"—=—=2x+4+C
3 2x +

2
3

b. 2x*+ L —2x+¢C
2x

4 1
e =x*——+2x+C
3 2x

d 2P —a=254C
3 4x
4 3,1

e. ;X +; 2x+C

lO.f(x—-;-)(xz +lx+%)dx=
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